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Klapptest – Dezimalzahlen multiplizieren 1 
 

 

Falte das Blatt entlang der Linie und berechne das Ergebnis. 

 
 

 

1. 7 3 4, 5 · 9 7, 7 1 

          

          

          

          
          

          

 71767,995 

2. 9 0, 2 4 · 3, 3 6 6 

          

          

          

          
          

          

 303,74784 

3. 4, 9 4 3 · 6, 1 1 8 

          

          

          

          
          

          

 30,241274 

4. 5, 6 9 3 · 0, 2 3 7 

          

          

          

          
          

          

 1,349241 

 

Ergebnis: 
 


